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I. �������	
�	��	
���������
����������	����	��	�������� ��	�!
�"�	
�	
!#$%��
�	&'	�	(�$� ��	�)'���*+	��	
',��"�	
���-�'	./%

01	)�$� ��	�)2�3�4��	�	1)��1	�0����"�	
���56'��2��5
',�56	�	
��% [20 x 1 = 20]

1. T
n
 = (–1)n, 57/�8��	9�	�	:����	
'	���	���	��-��	�)�8!#�01	)�$
���	�*	9%

a) S
1
 = S

2
b) S

2
 = S

3

c) S
3
 = S

4
d) S

2
 = S

4

2. ab, bc (���� ac -���HCF

a) abc b) a2 b2 c2

c) 1 d) ab + bc + ac.

3. �;	���'��-&�<�	���	=>	�	:���'��
�	�>	�	:�� ?	���4 : 9. 57/�-��

"�	
#�� ?	��%

a) 2 : 3 b) 16 : 81

c) 81 : 16 d) 14 : 19

4. 9 x  = 12 + 147 , 57/  x��(.�	9

a) 12 b) 9

c) 3 d) 3
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1) ��������	
����
�������������������������

2) ������������
����� �!"��
��#$������
�������%&�'(�)�*��� �%&�'(�
���+,-,���
���
	��,�.)��

3) �'������������/(�'����	�������01����2�����3����������4"������'
��*���

4) 	��5��6�����
����
*&��'7���-�"�#$��2�8������'7���-�"�#$�&�'(���
����92�
	+&��'.��%&�'���	�(������:��
%�'���;�'��;�,�<&�'�������%=�

5) �
����
*��,�63����)���#>���,�.� �����2���92��/?����
����;�,��� (�����
�'��������@����
�A"�� ���#$�����;�+��'�#$������,'�7�B
���C�	�+2��&�'�
	�(��������������<D��&�'(���
����92��	+&��'.��%&�'���	�(������
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5. �����"�	
�����	�/�5,���	��	$	,

a) nP
n
 = nC

n
b) nP

1
 = nC

1

c) nP
0
 = nC

0
d) nP

n
 = nP

n–1

6.  	�������	
�	��	
�	�	���!�HP ���81)�8��	"	=�

a) 1,  
1
2

,  
2
3

,  
3
4

b) 1,  1
3

,  1
6

,  1
9

c) 1,  
2
3

,  
1
2

,  
2
5

d) 1,  
1
4

,  
1
7 ,  

1
9

7. �@�	��A	�	���!�5+�������������
�	��	�B��0/	C���4�(�	9	��	)	,%

a) b)

c) d)

8. 3 , 3, 3 3  -+���1	�0	D/�(Sequence) ������	�	,	-	�'	./��&�����%

a) 9 b) 21

c) 27 3 d) 9 3

9. (x + y)2, (x – y)2  (����(x2 – y2) -����E%�
�%	(%�(LCM)

a) (x2 + y2)2 b) x4 – y4

c) (x2 - y2)2 d) (x + y) (x – y)3

10. F���5A	�	:����	
'������2�3��
&�	�'������2��<���)�  0
(��� 30, 57/�4���F��
�?������������	
'����	��

a) 0 b) 90

c) 160 d) 900

�����	�
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11. v2 = u2 + 2as 57/, ‘u’ - -���(.�	9

a) v2 - 2as b) ± v 2 + 2as

c) ± v 2 − 2as d) 2as – v2

12. ���	�	"�	;��(quadratic) �(�	
��	;��FC>��!�<���)�1 (��� –1 	5	7/

a) ax2 – x – 1 = 0 b) ax2 – 1 = 0

c) x2 = 1 d) x2 + 1 = 0

13. a
abc
∑ = 0 57/ a

abc
∑ 3

5�
	,

a) 0 b) 1

c) –3abc d) 3abc

14. 1! ×  3! ×  0! 57/�-���(.�	9

a) 6 b) 0

c) 3 d) 1

15. ���	
�	��	
�����"	
	�'	./�∠PAO = 30º, 57/ ∠POQ  = ?

a) 60º b) 120º

c) 90º d) 30º

16. �@���A	�	���!�����G�B�01	)�$���/	����(quadratic) 0(�	
�	


a) 4 x = 81
x

b) x + 1
x

= 5

c) (x + 2)2 = 3x d) 5 – x2 = x

A

P

Q

O
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17. �&�0,	"'	.��F�C� �	�� 10 2  	�0%	E, 57/�4���
�	�'	.��H#�

a) 2 �0%	E b) 10 �0%	E

c) 8 �0%	E d) 20 �0%	E

18. 1 (��� 2 ���-���)�8!#�I�*	�(�	7��0"�	01�(Harmonic Mean)

a) 1
1
2

b) 1
1
4

c) 1
1
3

d) 1
2
3

19. ���	
�	��	
�	
!#�-�=�	9	��1)��(�	1�	JK (matrix).

a) ⎥
⎦

⎤
⎢
⎣

⎡
20

02
b) ⎥

⎦

⎤
⎢
⎣

⎡
21

12

c) ⎥
⎦

⎤
⎢
⎣

⎡
12

12
d) ⎥

⎦

⎤
⎢
⎣

⎡
11

11

20. n
n =1

n

∑ + n − 1( )
n =1

n

∑  -���(.�	9

         a) n(n –1)               b)      
n2

2
                   c)     2n2                       d)      n2

II. 
��;���
�����
 !����
�����������"�
����#
$%�����% [10 x 1 = 10]

21. �(�	1�	JK A 	D���1	�0 m ×  n, �(�	1�	JK B D���1	�0 n ×  p, 57/
�(�	1�	JK�AB  ________.

22. L>	���	='	.��<	�>	�#�/�<��M��N��	
���
�	O	�I�	"��

Ppolyhedron ) ___________.

23. P (��� Q �����-/	C����=>	�!3�P – Q = P, 5	7/ P ∩  Q  _________.

24. 4;�	
��� ?	�	0(����	�'���  (Basic Proportionality Theorem) Q*	(�	7'�
�R	�	�(	�� ____________.

�����	�

P Q
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25. 4�"���	�'	.�����=�4#	� _____________.

26. �=	�'	.��(��	�'����A	�	�)�8�	���N'	.	"� ___________.

27. a x + b y  D��,�=��9!	: ______________.

28. ��C	)�$� �	�'	./�N�	M	?���4�"	��	�'	.	$�/� 8&	��	��� �$
8&	�� ______.

29. ��#+���(�	
�	�'	�������A��8&	�#	D��
"�	
#	�����A	�	�)�8�	��
N'	.	"� __________.

30. AP 4�(�	S����C	�@��S�$�4�(�	9 _____________.

III. &'
���()
��������"
����#��������
����*+��	
� ,��-

31. TU��
*�8!#��&��6	 /�V��
*�W�(�	
���;�	
*3� X��
*���S�(�	
�
�;�	
*3�Y��
*�W�(������S��;�	
*%�������"	
	�����������	
�	�
�FC�
5'	��$��
*���S�(����W�4&+	��	�	�*	�!�5����A	
	S	;% [2]

32. 0(�	
��	;���&��$	F	C� px2 + 3x + 2 = 0, -,�(�	����	�����C	
�@�S�$��57/�  pD��(.�	�
����A	�% [2]

33. x2 + 1 = 8x N'	.	"'	.��8�	 ����A
�-B	0	(�	
��	;��Q*	 	�$���A	�	�	�%

[2]

34. F���5A	�	:�� ?	�>	�!�<��	�) 
6

1
:

5

1
:

3

1
3�-������*�	�	>	�	:�

(squares) ��	
'������� 644, 57/�5A	��#���A	�	�	�% [2]

35. A = ⎥
⎦

⎤
⎢
⎣

⎡
03

21
 57/ Α ′ Α �-���(.���
��A	�	��% [2]

36. 9���	
	��� (photograph) 5
�	
	��	���� -"A	
Z�G�	[�� ����
�
)�	�	[���&��1	�0	D/�4(*+	,!#$*%�-"A
�Z�G	�!�(�	
�
(�	��	(/�4�	�����-&�������5'��$��\	�	:/��
)�	�!�(���4(*+,
9���	
	���5
�	�	-	)	M��] [2]

37. 
�	.�5A�(denominator) -��$� ?	�<��5A	=���(���� 	̂&�	�	�%

3 2 + 2 3
3 2 − 2 3

[2]
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38. 44  and 33  -�	�$��
&�?� ���56	,	�% [2]

39. _`�0%E�
"�	
#	���aTE�^�	�#	������A���0�	����;	�	<!#�(�$	D�
�����
�H#�3�4�	C'	�����A	
	S	;�	�% [2]

40. b*�4M	G	7	)'����	;/��@�	��	c���;	�'�����"+,����;�5
',
4��$�(;',���9��;	�	(��	?�����!#���A	
�%�-./ AB = 25 �0%E
 / BC = 44 �0%E���	S���$�4#�����A	�	�	�% [2]

41. �C��4#�	���
R��0d	
	�	&��)��C�����	�*	9	��)�9'	�	�'	./�
.	)�	

��� �	"�������"�	
�	
!#,%�-���	1)�.�	���
�'�����"	�%

(4#�	 20 E = 1�0%E). [2]

E��*

To D

140

120 60 to C

to E 80 100

50 40 to B

From A

42. U = {1, 2, 3, 4, 5, 6, 7, 8, 9}

A = {x : x 10 L 	������+��01	)�$��*�	��}

B = {x : x 10 L 	������+��-"����-)/�5A�}

Α ∪ Β( )′ = ′ Α ∩ ′ Β  5�	
����e	S�	�% [2]

�����	�

A

B C
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43. HP D/�T7 = 
1

20
 (���   T13 = 

1
38

 5	7/�H.P. D��<�/�-�'	./��&	���

�A	�	�	�% [2]

44. �
&�	�/�(�	
	�C��(modulo) 10 E, S = {2, 4, 6, 8}����A
����C	D�
(Cayley’s) 4�	�	�	�=	�)'��)�	1�	�% [2]

45. �@�	��	c���(�	1�	JK����A
���"	
	�����"	�%�	
��
� [2]

⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

012

102

220

46. �@�	��	c���$8	&	�'������A
�fC*	g��(Euler’s) N'	.	"'����e	
	=�
�0d	�% [2]

47. 4 �0%E3�h"�����A����	�	'./3 100º ���=�-��	��	:	D/�T�h">	�!
��"	�%�h">	�!�<;2��-�'	./�-"A
����
����	
	�!�(Tangents) ��"	�%

[2]

48. GP D��<�/�8��9��64 (�����
�,��$� ?	���‘r’. <	�/�8��	9�	��
���	��	�,�8��	9�	���-���DC�$�0"�	01�140 57/, ‘r’ ��(.�9
�A	�	�	�. [2]

IV. 49. a + b + c = 2s 57/�-��$��e	S'	,�����	
	�% [3]

a2 + b2 − c2 + 2ab
a2 − b2 − c2 + 2bc

 = s
s − b( )

.

A

B C

E F

D
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50. ��	�'	.�����	:�)�8!#�9!	:	�)�����A
����'	.	�����"	)�	
	
�
���
����	
	�!�0(	(�	$���5�	
	��$��e	S�	�% [3]

51. �@�	��	c��5A�4�	�	�	�=	�)�����A
�4��	��$�.�	�	 	C�	�'	���
�A	�	�	�% [3]

C.I f

20 – 24 2

25 – 29 3

30 – 34 5

35 – 39 3

40 – 44 2

52. �&�?1�	����0>	�'	./�-&�	���i_�h�	��	��	"*	�	:/�U��
*�(�	��	)�/

+���4;�	
	�*	�!3� Y��
*�
+,�5�	
	�*	�!��(M��E.�-&�	
	�	*	�!
4�$'	,����1+	��*	�!%�-./�a��
*�(�	��	)�/�
+,�4	;�	
	�*	�!3�T�
*

+,�5�	
	�*	�!�(����E.	�
*�4�$'	,����1+	�	�*	�!�5$���',�ii��
*	
��#�5'	��$�<��	�	:/���*���0d	)	C��] [3]

53. (x3 – 9x2 + 26x – 24) (��� (x3 – 6x2 + 11x – 6) -���E%�
�%(� (L.C.M.)
�A	�	�	�% [3]

54. T%_�E�	�*��8)	"	<!#�jR�^��	�/�0�d',���'	��	
�
!#,%�jR	)�	$	,	
	̂��	���4;�	
	�	.	D	O	&+,%�T%Y��E�	�*����	�C	 /���'	.	$�/�4,�^��	
�/	8!#�0�	$	O��4;�k7	�)����	
��jR	D��4;�	
	�.�i%Y�E�	�*
^���������	?���*'	��	
	;��jR	)�	$,�0�	$	O��8BZ�k7	�)'	��	�
�%
-�	�
�	6,�0�	$	O��8)	"'	�����=�	?	
	�% [3]

V. 55. A.P. D/�8!#�X��,�8��	S��X�(�>�3� ii�,�8�	�S��ii�(�>	?�	�
0(	(�	���57/�iV��,�8��9�‘0’����0(�	5$��e	S�	�% [4]

56. �;	���'��<�	���	=>	�	:��
"�	
#	��	$,��'��
�	�>	�	:���*�	�'	.�
 ?	�'	,	����'	.	&�	��%��e	S�	�% [4]

57. -&���>	�	:��h">	�!�<��	�)�a��0%E�(����T��0%E�-&���	�>	�	:�
�()�	9!	:	�	[���-��	�)2!#�l"��m��0%E%�-�	�$�����A
��
�	,	
��$3����	�'����	
	���
���"	�%����
�����	;��H#'���4#+,�4��$
01	
�*���% [4]
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58. y = x2 (��� y = 6 –x -7  x2 + x – 6 = 0 5�	
	.��Q*����A�%�-��	�	1	)
��"	
	����(Graph)���"	�% [4]


